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What is g(x) = f-1(x) if f(x) = [image: image9.png]


x?
[image: image10.wmf]g(x) = 0
[image: image11.wmf]g(x) = -2x
[image: image12.wmf]g(x) = [image: image13.png]


x-1
[image: image14.wmf]g(x) = 2x
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Which common graph looks like a really wide, short "S"?
[image: image15.wmf]Cubic
[image: image16.wmf]Square root
[image: image17.wmf]5th order polynomial
[image: image18.wmf]Cube root
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Determine which two function are inverses of each other. 

	f(x)
	
	= 
	
	x+2  



4
	
	         g(x)= 4x + 2           h(x) =
	
	x-2  



4


[image: image19.wmf]f(x) and h(x)
[image: image20.wmf]f(x) and g(x)
[image: image21.wmf]g(x) and h(x)
[image: image22.wmf]None
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J(x) = x -1 is an example of:
[image: image23.wmf]an inverse function.
[image: image24.wmf]a constantly diminishing function.
[image: image25.wmf]x ≠ 0.
[image: image26.wmf]a linear function with negative slope.
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Which of the following is a reflection of f(x) = -x + 1 about the x-axis?
[image: image27.wmf]r(x) = x + 1
[image: image28.wmf]r(x) = x - 1
[image: image29.wmf]r(x) = -( x - 1)
[image: image30.wmf]None of the above
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(f ° g)(x) = (g ° f)(x)
[image: image31.wmf]Always
[image: image32.wmf]Never
[image: image33.wmf]Sometimes
[image: image34.wmf]There is no such thing as (f ° g)(x) 
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Find the domain of the function 
	f(x)
	
	= 
	
	1 



x-6
	
	+ 
	
	4 



x+7


[image: image35.wmf]

 INCLUDEPICTURE "http://testing.grantham.edu/perception4_res/topicresources/1857168045/MA105G.04.004.01.gif" \* MERGEFORMATINET [image: image36.png](==, 6) U (6, =)




[image: image37.wmf]

 INCLUDEPICTURE "http://testing.grantham.edu/perception4_res/topicresources/1857168045/MA105G.04.004.02.gif" \* MERGEFORMATINET [image: image38.png](==, =) u (-7, =)




[image: image39.wmf]

 INCLUDEPICTURE "http://testing.grantham.edu/perception4_res/topicresources/1857168045/MA105G.04.004.03.gif" \* MERGEFORMATINET [image: image40.png]



[image: image41.wmf]

 INCLUDEPICTURE "http://testing.grantham.edu/perception4_res/topicresources/1857168045/MA105G.04.004.04.gif" \* MERGEFORMATINET [image: image42.png](==, =7)u(-7,6) U (6, =)
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Consider d(x) = (x + 2)3 + 3; what is the new equation for d(x) if it is 4 times larger?
[image: image43.wmf]d(x) = 4(x + 2)3 + 12
[image: image44.wmf]d(x) = (x + 2)12 + 3
[image: image45.wmf]d(x) = 4(x + 2)3
[image: image46.wmf]d(x) = 4(x + 2)3 + 3
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Which of the following is a translated version of f(x) = x3?
[image: image47.wmf]f(x) = x3 + 1
[image: image48.wmf]f(x) = (x - 12)3
[image: image49.wmf]f(x) = (x - 12)3 + 1
[image: image50.wmf]All of the above
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If g(x) = 3f(x) and f(13) = 12, then g(13) =
[image: image51.wmf]36
[image: image52.wmf]39
[image: image53.wmf]-9
[image: image54.wmf]This cannot be determined based on the given information.
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Consider f(x) = x2; s(x) is f(x) shifted which way and how far, if
s(x) = (x + 2)2 - 3?
[image: image55.wmf]To the left 4 units
[image: image56.wmf]To the right 2 units
[image: image57.wmf]To the left 3 units
[image: image58.wmf]To the left 2 units
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Begin by graphing the standard quadratic function f(x) = x2.  Then use transformatios of this graph to graph the given function.
h(x) = (x-7)2 + 7
[image: image59.png]



[image: image60.wmf]

 INCLUDEPICTURE "http://testing.grantham.edu/perception4_res/topicresources/1857168045/MA105G.04.003.02.gif" \* MERGEFORMATINET [image: image61.png]1

RS





[image: image62.wmf]

 INCLUDEPICTURE "http://testing.grantham.edu/perception4_res/topicresources/1857168045/MA105G.04.003.03.gif" \* MERGEFORMATINET [image: image63.png]CHEHS
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[image: image64.wmf]

 INCLUDEPICTURE "http://testing.grantham.edu/perception4_res/topicresources/1857168045/MA105G.04.003.04.gif" \* MERGEFORMATINET [image: image65.png]“ J,J;'iegi PR





[image: image66.wmf]
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Find the distance between the pair of points.
(-2, -6) and (7, -3)
[image: image68.wmf]6
[image: image69.wmf]

 INCLUDEPICTURE "http://testing.grantham.edu/perception4_res/topicresources/1857168045/square_root8b4ac2b2-4c424c97-55ed85bf-1db3ab2d.jpg" \* MERGEFORMATINET [image: image70.jpg]



[image: image71.wmf]72
[image: image72.wmf]

 INCLUDEPICTURE "http://testing.grantham.edu/perception4_res/topicresources/1857168045/square_root8fd6ff7e-4c5ffed2-45f180be-9fbe0597.jpg" \* MERGEFORMATINET [image: image73.jpg]
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Which common graph represents a horizontal line?
[image: image74.wmf]The constant function
[image: image75.wmf]The identity function
[image: image76.wmf]The inverse function
[image: image77.wmf]None of the above, horizontal lines are not functions
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If g(x) is an inverse of f(x), then how do the x-values and y-values coordinates of the points on f(x) map onto coordinates of g(x)?

[image: image78.wmf]The ordinate values in f(x) become the x-values values in g(x), and the x-values values in f(x) becomes the ordinate values in g(x)
[image: image79.wmf]They swap roles
[image: image80.wmf]Both (A) and (B)
[image: image81.wmf]Neither (A) nor (B)
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As x gets arbitrarily large in a negative way, k(x) = x-2 approaches:
[image: image82.wmf]∞
[image: image83.wmf]-∞
[image: image84.wmf]0
[image: image85.wmf]You cannot take the square root of a negative quantity
17 of 20 Complete the square and write the equation in standard form.  Then give the center and radius of the circle.
x2 + y2 - 2x - 4y - 4 = 0 
[image: image86.wmf](x + 1)2 + (y + 2)2 = 9
(-1, -2), r = 3
[image: image87.wmf](x - 1)2 + (y - 2)2 = 9
(-1, -2), r = 3
[image: image88.wmf](x - 1)2 + (y - 2)2 = 9
(1, 2), r = 9
[image: image89.wmf](x - 1)2 + (y - 2)2 = 9
(1, 2), r = 3
18 of 20 

Consider g(x) = (x + 2)3 + 3; what is the new equation for g(x) if it is shifted up 6 units and shifted right 9 units?
[image: image90.wmf]g(x) = (x + 11)3 + 6
[image: image91.wmf]g(x) = (x + 2)3 - 3
[image: image92.wmf]g(x) = (x - 7)3 + 9
[image: image93.wmf]It is still g(x) = (x + 2)3 + 3
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If f(g(x)) = g(f(x)) = x, then what can we say about f(x) and g(x)?
[image: image94.wmf]They are functional inverses of each other
[image: image95.wmf]f(x) = g(x)
[image: image96.wmf]f(x) = g(x) = x
[image: image97.wmf]Nothing can be said about f(x) and g(x)
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What is f(x) if f(x) = z(x) + 2 and z(x) = 2x - 3?
[image: image98.wmf]f(x) = z(x) - 1
[image: image99.wmf]f(x) = z(x) + 2x - 1
[image: image100.wmf]f(x) = 2x - 1
[image: image101.wmf]This cannot be solved.
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